RD Sharma Solutions Class 12 Ch 4 - Inverse Trigonometric Functions

Exercise 4.3
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We know that, for any x =2, tan™ x represents an angle in [L;_.:.] whtse tangent |5 x,
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Find the principal value of each of the following:
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We kriow that for any x R, tan « represgwts»fan analen [-:\A ;] whicee tangent is x.
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tari* [ocs%] - tan ™ (0)
We know that for any x R, tan” L ¥ represents an anglen [-2“ 5] whose tangent 18 x.

tar 2 (0) =0

Principle value of tan‘l[wsg] is 0,
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Find the principal value of each of the following:
tan™ (2 ocsﬁ]

3
Solution &

tart [2(:05 é] = tar? [2 x -—l] = tan{-1) .8
: ? : 2 ’ < »

Wa kriow that for any x eR, tan™ x represents an dnalean (g,g)wose tangent is x,
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Far the principal values, svaisate each of the Tollowing

tar [2 sin [4 oost g]}

Solution
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Evaluate zach of the following

tan~t [._ %J v tar™ [<f3) 4 tan™ [ain[:— %D

Solution

r.an'l( {* tar ™ (~y3) + tar (eln[- :]]
= tan?t [‘- 7%]+ tar [-sﬁ]*— tar* (-1)

We kriow that for any x =R, tan™ x represents an angle in [_:n.. :"\] whose tangentis x
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Evaluate each of the following: R
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We know that for any x R, tan™ x represants an anagle in [-':r_ 1:r] whose tangent |s x,

Gn‘l[ 1 ]--5
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We knew that for any x e[-1, L], cos™x represents an angle in [0 x] whase cosine Is x.
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